1ltsmp HALF YEARLY EXAMINATION - 2019 I‘Refg; o

Time Allowed : 3. 00 Hours] Part - III - MATHS [Maximum Marks: 90

Instruqbons 1) Check the question paper for fairness of printing. If there is any’lack
of fairness inform the Hall Supervisor immediately.
2) Use Blue or Black ink to write and underiine and pendil todraw

diagrams.
Note : This question paper contains four parts
' PART-1 e
Note : (i) Answerallthequestlons ' ' . 20x1=20

- (i) Choose the most agpropriate answer from the given four T
"~ alternatives and write the optlon code and the corresponding answer.

1. IfA {(x, yhy=¢exe R} and B {(x,. y):y=e*xe R} vthen n{ANB) is :
(a) « - ()0 ©L . (2 : |
2. The number of constant functions from a set contaang m elements to a set
~ containing 'n’ elements is : _
: @mn  (b)m e n . (d) m+n
3. The range of the function f(x) = |Ix]- x|, x e Ris : ,
- (@0 1] B0, ® (@1 @O |
4. Ifaand b are the roots of the equaﬁon X%- kx + 16=0 and sausfy a+b?=32 then -
~ the value of k is : ' :

(a) 10 ' _(b) 8 (c) - 8 8 (d) 6
5. If e = 2‘+41 the‘th\‘\/!l of Kis :
CU GAaol) xe2 x-l on e Yaue o

@1 - (b2 @3 (A4
6. €os 1° + c0s2° + cos 3° +. .. +cos 179° =

@o "~ (bt (c) 1 .(d) 89
7. Ifsin a + cos « = b, then sin 2a is equai to:

@) b2-1,ifb < 3 (b) b%-1,ifb > 42

(Obe-1,ifb>1 - (d)bz-llfb>~/_
8. The coefﬁc:ent of X" in the seriese™ is: . .

-(a), = (b) = '(c) ~—. @

9. The Iength of the perpend;cuiar from the orlgln to the Iane%— Y_tlis:

@7 ®> 02 ()3

10. If the lines represented by the equatlon 9%’ -24xy+16y 0 makes angtes 8, and
8, with x - axis, then tanf; tang,=

‘(a)-— ' (b)-— _-(c)~— - ()—-
11. IfA is a square matrix, then which of the followmg is not symmetnc
(@ A+ AT (b) AAT (QAA - (DA-AT

E4



12

: ‘. Q! é
13. ; i o,
" (a) parallel to each other . . (b) unit vectors

14.

15.

16.

If a-z +2j +2k, ]bl-—S andthe angle between a and b is -6— then the area
of the mangle formed by these two vectors as two sndes is:

Wl el weQ m—

The vectors i —J, _] ~k, k- ?"are

© mutuaily perpenduéular vectors - (d) coplanar vectors, -

@0 ; B e (€2 (d) does not ¢ exists

: 1 2 3’:'5-‘.‘:' T » . Tagr. T

le(—z— o +;I—2-++—’%)= S ‘- vt
J®3~.pwm @1.~J@wxfknf

L3 4=

S )= )

(a) 3x°+(log3)3" (b) x3+|ogs (c) (log3)(3")+3x2 (d) 3*x+(log3)3"

The number of points in R in WhICh the function f(x)—}x-1|+|x-3|+sm X is not

17.
- differentiableis :

18.

: 19-

21.
22,

123,

. 24.

“(a) 3 2 @1 @4
' The differentiate of y=|x - 1| at x=1- ;s R e Y me ;
(a). 1 (b) - 1 (c) 0 (d). does not exist
If f(x) x tan Y'x then find f(1) : - : } '
1z 17z - ol
@ -2 | ,(m2+4. : @)4 @z
Find-ll'.’im 3in 2
‘x-30 X ) ‘
@22 . (b) 1/2 . @1 (d) 0.
- PART-1IIL

Note Answer any seven questions. Question no. 30 is oom‘pulsornyz-.:lA

If f : [-2, 2] - B is given by f()= =2x3, then ﬁnd B so that f is onto.
Write the values of f at -3 and O if :

- x.+.x-.5 zf x.e(—oo,'O) )
X +3x-2 if . xe(B, »
. - X if xe(0, 2)
x-3  otherwise

L.

Find the expansuon of wh'ere x| < 2 upto the fourth tenn;

(2 »
Find the combined equation of the stralght lines whose separate equatlons -are
x-2y=0 and 2x+y-0 What can you say about the two lines 7 =~
11* Maths -«






